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Summary: Model

Swap spread P = P%/PB

Preferred-habitat investors Q¢(7) = —a(7) log Py(T Z 01(7) Br.t

Arbirageurs  max [Et(th) - gVar(th)}

{Xe(m)}320

where dW; = /Ooo X(7) (dé)t((;) - ct> dr

Market clearing X¢(7) + Q+(7) =
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Suggestion #1: Demand function of preferred-habitat investors
3 aggregate demand factor 3; 1
t
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Qi(1) = —a(r)log Po(1) = Oo(T) = > Ok(7)Brt
k=1
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log Q¢(17) = —a(7)log Pi(1) — Op(7) — Z 01 (7) Bt
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Summary: Results

Calibration:

Direction Short-to-intermediate group prefers to pay fixed (banks and corporates)

Long maturity prefers to receive fixed (PF&I)

Elasticity Inelastic demand

elasticity(PF&I)<elasticity(banks&corporates)<elasticity(funds)

Counterfactuals:

Demand shock to one sector greatly affects swap prices and another sector’'s hedging cost
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No arbitrage = underestimation of demand elasticity
e Fuchs, Fukuda, and Neuhann (2024): No arbitrage = prices co-move in substitutable assets
— less rebalancing = underestimation of demand elasticity
o This paper: uses 'relative price’ P = P%/P? to get around the issue
o 'Relative price’ may have its own issues..

@ Current discussion is probably insufficient:
risk (Klingler and Sundaresan, 2019). Since, in general, investors can also use bonds for hedging,
the relevant price for their demand for swaps is the swap spread, which captures the price of a swap
relative to the maturity-matched bond. Defining price this way also nets out the direct impact of

bond yields on swap rates.
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Qi(1) = —a(r) log P/ (1) + B(7) log PF( Z O (7)Br.e

Current paper assumes «a(7) = 3(1)
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K
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k=1

9] F T B T
dWy :/0 lXt(T) (dgzt?(g_)) - ct> + XP(7) (d]i??(g-)) - cf)] dr

Xi(1) + Qu(r) =
XP(r)+QF(r) =0




Summary

Rich results!
Main suggestions:
@ Sharpen the interpretation of 'relative price’

@ Explicitly model substitution with bonds
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